Trung Gia High School                      THE SECOND TERM TEST- NO 1

School year 2015- 2016                      Subject : English 

Grade 11                                              Time : 45 minutes                        NUMBER : 110

____________________ ********** ___________________**********_________________

I. Pick out the word whose underlined part is pronounced differently from that of the others.

1. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


2. A. advise                     B. establish            C. organise                  D. decide

3. A. character               B. choose                C. chilly                        D. cheap 

II. Choose the best answer (A, B, C, D) that best completes each sentence.

4. A. distance
B. daily

C. equip

D. surface



5. A. appropriate
            B. emotional
         C. pronounce
      D. situation
III. Choose the best answer (A, B, C, D) that best completes each sentence:

6. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

7. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

8. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

9. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted

10. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that

11. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction

12. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from

13. She believes there is life______ other planets.

A. of

 B. in 

 C. on

D. from

14. The man about _____ I told you works in the hospital. 

A. who

 B. whose

C. whom 
 D. that

15. The picture at _____ she was looking was beautiful. 

A. who

 B. which

C. whom 
 D. that

16. I saw a lot of people and horses______ went to market.   

A. who

 B. which

C. whom 
 D. that

17.  I have not decided the day ______ I’ll go to London.    

      A. where

 B. why

C. when
 D. that

18. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that

IV. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

19. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity

C. The Variety of Species 

D. Natural Mechanisms

20. Which of the following is not a species used to replace a rich ecosystem?

A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

21. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

22. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

23. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral

V. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (24) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (25) ______ in the world. Small amounts of energy were (26) ______ from nuclear fission, and the (27) ______ 16 percent came from burning direct perpetual and renewable fuels, (28) ______ biomass. 

24. A. clean 


B. unleaded 

C. fossil 

D. solid

25. A. used  


B. produced 

C. supplied 

D. stored

26. A. produced 

B. derived 

C. extracted 

D. released

27. A. resting 


B. leaving 

C. restricting     
D. remaining

28. A. as 


B. therefore 

C. such as 

D. for

VI. Choose the underlined part that needs correcting.

29. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

30. He became the first person to eating and drink in zero in space .

           A                   B               C              D

31. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

32. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D

VII. Rewrite the following sentences so that it has the same meaning as the given one.
33. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..
34. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….
35. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ ………………………………………………………….
36. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
37. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
38. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
39. The children made every effort to please their parents.
Rewrite the following sentences, using “try”

→ ………………………………………………………….
40. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
NUMBER : 110
THE END
Trung Gia High School                      THE SECOND TERM TEST- NO 1

School year 2015- 2016                      Subject : English 

Grade 11                                              Time : 45 minutes                        NUMBER : 111

____________________ ********** ___________________**********_________________

I. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

1. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity

C. The Variety of Species 

D. Natural Mechanisms

2. Which of the following is not a species used to replace a rich ecosystem?

A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

3. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

4. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

5. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral
II. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (6) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (7) ______ in the world. Small amounts of energy were (8) ______ from nuclear fission, and the (9) ______ 16 percent came from burning direct perpetual and renewable fuels, (10) ______ biomass. 

6. A. clean 


B. unleaded 

C. fossil 

D. solid

7. A. used  


B. produced 

C. supplied 

D. stored

8. A. produced 

B. derived 

C. extracted 

D. released

9. A. resting 


B. leaving 

C. restricting     
D. remaining

10. A. as 


B. therefore 

C. such as 

D. for
III. Choose the best answer (A, B, C, D) that best completes each sentence.

11. A. distance
B. daily

C. equip

D. surface



12. A. appropriate
            B. emotional
         C. pronounce
      D. situation
IV. Choose the best answer (A, B, C, D) that best completes each sentence:

13. She believes there is life______ other planets.

A. of

 B. in 

 C. on

D. from

14. The man about _____ I told you works in the hospital. 

A. who

 B. whose

C. whom 
 D. that

15. The picture at _____ she was looking was beautiful. 

A. who

 B. which

C. whom 
 D. that

16. I saw a lot of people and horses______ went to market.   

A. who

 B. which

C. whom 
 D. that

17.  I have not decided the day ______ I’ll go to London.    

      A. where

 B. why

C. when
 D. that

18. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that
19. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction

20. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from
21. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

22. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

23. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

24. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted

25. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that

V. Pick out the word whose underlined part is pronounced differently from that of the others.

26. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


27. A. character               B. choose                C. chilly                        D. cheap 

28. A. advise                     B. establish            C. organise                  D. decide

VI. Choose the underlined part that needs correcting.
29. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

30. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D
31. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

32. He became the first person to eating and drink in zero in space .

           A                   B               C              D
VII. Rewrite the following sentences so that it has the same meaning as the given one.

33. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
34. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
35. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
36. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..
37. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….
38. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ ………………………………………………………….
39. The children made every effort to please their parents.
Rewrite the following sentences, using “try”

→ ………………………………………………………….
40. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
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I. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (1) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (2) ______ in the world. Small amounts of energy were (3) ______ from nuclear fission, and the (4) ______ 16 percent came from burning direct perpetual and renewable fuels, (5) ______ biomass. 

1. A. clean 


B. unleaded 

C. fossil 

D. solid

2. A. used  


B. produced 

C. supplied 

D. stored

3. A. produced 

B. derived 

C. extracted 

D. released

4. A. resting 


B. leaving 

C. restricting     
D. remaining

5. A. as 


B. therefore 

C. such as 

D. for
II. Choose the underlined part that needs correcting.
6. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

7. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D
8. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

9. He became the first person to eating and drink in zero in space .

           A                   B               C              D

III. Pick out the word whose underlined part is pronounced differently from that of the others.

10. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


11. A. character               B. choose                C. chilly                        D. cheap 

12. A. advise                     B. establish            C. organise                  D. decide

IV. Choose the best answer (A, B, C, D) that best completes each sentence.

13. A. distance
B. daily

C. equip

D. surface



14. A. appropriate
            B. emotional
         C. pronounce
      D. situation
V. Choose the best answer (A, B, C, D) that best completes each sentence:

15. The picture at _____ she was looking was beautiful. 

A. who

 B. which

C. whom 
 D. that

16. I saw a lot of people and horses______ went to market.   

A. who

 B. which

C. whom 
 D. that

17.  I have not decided the day ______ I’ll go to London.    

      A. where

 B. why

C. when
 D. that

18. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that
19. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction

20. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from
21. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

22. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

23. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

24. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted

25. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that
26. She believes there is life______ other planets.

A. of

 B. in 

 C. on

D. from
27. The man about _____ I told you works in the hospital. 

A. who

 B. whose

C. whom 
 D. that
VI. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

28. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity

C. The Variety of Species 

D. Natural Mechanisms

29. Which of the following is not a species used to replace a rich ecosystem?

A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

30. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

31. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

32. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral
VII. Rewrite the following sentences so that it has the same meaning as the given one.

33. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
34. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
35. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
36. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ ………………………………………………………….
37. The children made every effort to please their parents.
Rewrite the following sentences, using “try”

→ ………………………………………………………….
38. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….

39. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..
40. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….
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____________________ ********** ___________________**********_________________

I. Choose the best answer (A, B, C, D) that best completes each sentence:

1. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction

2. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from
3. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

4. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

5. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

6. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted

7. The man about _____ I told you works in the hospital. 

A. who

 B. whose

C. whom 
 D. that
8. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that
9. She believes there is life______ other planets.
A. of

 B. in 

 C. on

D. from
10. The picture at _____ she was looking was beautiful. 

A. who

 B. which

C. whom 
 D. that

11. I saw a lot of people and horses______ went to market.   

A. who

 B. which

C. whom 
 D. that

12.  I have not decided the day ______ I’ll go to London.    

      A. where

 B. why

C. when
 D. that

13. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that
II. Choose the best answer (A, B, C, D) that best completes each sentence.

14. A. appropriate
            B. emotional
         C. pronounce
      D. situation
15. A. distance

B. daily

C. equip

D. surface
III. Pick out the word whose underlined part is pronounced differently from that of the others.

16. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


17. A. character               B. choose                C. chilly                        D. cheap 

18. A. advise                     B. establish            C. organise                  D. decide

IV. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

19. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity

C. The Variety of Species 

D. Natural Mechanisms

20. Which of the following is not a species used to replace a rich ecosystem?

A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

21. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

22. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

23. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral
V. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (24) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (25) ______ in the world. Small amounts of energy were (26) ______ from nuclear fission, and the (27) ______ 16 percent came from burning direct perpetual and renewable fuels, (28) ______ biomass. 

24. A. clean 


B. unleaded 

C. fossil 

D. solid

25. A. used  


B. produced 

C. supplied 

D. stored

26. A. produced 

B. derived 

C. extracted 

D. released

27. A. resting 


B. leaving 

C. restricting     
D. remaining

28. A. as 


B. therefore 

C. such as 

D. for
VI. Choose the underlined part that needs correcting.
29. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

30. He became the first person to eating and drink in zero in space .

           A                   B               C              D

31. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

32. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D
VII. Rewrite the following sentences so that it has the same meaning as the given one.

33. The children made every effort to please their parents.
Rewrite the following sentences, using “try”

→ ………………………………………………………….
34. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….

35. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..

36. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
37. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
38. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
39. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ …………………………………………………………
40. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….
NUMBER : 113
THE END
Trung Gia High School                      THE SECOND TERM TEST- NO 1

School year 2015- 2016                      Subject : English 

Grade 11                                              Time : 45 minutes                        NUMBER : 114

____________________ ********** ___________________**********_________________
I. Choose the underlined part that needs correcting.
1. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

2. He became the first person to eating and drink in zero in space .

           A                   B               C              D

3. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

4. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D
II. Choose the best answer (A, B, C, D) that best completes each sentence.

5. A. distance


B. daily

C. equip

D. surface
6. A. appropriate
            B. emotional
         C. pronounce
      D. situation
III. Pick out the word whose underlined part is pronounced differently from that of the others.

7. A. character               B. choose                C. chilly                        D. cheap 

8. A. advise                     B. establish            C. organise                  D. decide

9. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


IV. Choose the best answer (A, B, C, D) that best completes each sentence:

10. The picture at _____ she was looking was beautiful. 

A. who

 B. which

C. whom 
 D. that

11. I saw a lot of people and horses______ went to market.   

A. who

 B. which

C. whom 
 D. that

12.  I have not decided the day ______ I’ll go to London.    

      A. where

 B. why

C. when
 D. that

13. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that
14. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction

15. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from
16. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

17. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

18. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

19. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted

20. The man about _____ I told you works in the hospital. 

A. who

 B. whose

C. whom 
 D. that
21. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that
22. She believes there is life______ other planets.
A. of

 B. in 

 C. on

D. from
V. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (23) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (24) ______ in the world. Small amounts of energy were (25) ______ from nuclear fission, and the (26) ______ 16 percent came from burning direct perpetual and renewable fuels, (27) ______ biomass. 

23. A. clean 


B. unleaded 

C. fossil 

D. solid

24. A. used  


B. produced 

C. supplied 

D. stored

25. A. produced 

B. derived 

C. extracted 

D. released

26. A. resting 


B. leaving 

C. restricting     
D. remaining

27. A. as 


B. therefore 

C. such as 

D. for
VI. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

28. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity

C. The Variety of Species 

D. Natural Mechanisms

29. Which of the following is not a species used to replace a rich ecosystem?
A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

30. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

31. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

32. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral
VII. Rewrite the following sentences so that it has the same meaning as the given one.

33. The children made every effort to please their parents.
Rewrite the following sentences, using “try”

→ ………………………………………………………….
34. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….

35. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..

36. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
37. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ …………………………………………………………
38. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….

39. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
40. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
NUMBER : 114
THE END
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____________________ ********** ___________________**********_________________

I. Choose the best answer (A, B, C, D) that best completes each sentence.

1. A. distance


B. daily

C. equip

D. surface
2. A. appropriate
            B. emotional
         C. pronounce
      D. situation
II. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (3) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (4) ______ in the world. Small amounts of energy were (5) ______ from nuclear fission, and the (6) ______ 16 percent came from burning direct perpetual and renewable fuels, (7) ______ biomass. 

3. A. clean 


B. unleaded 

C. fossil 

D. solid

4. A. used  


B. produced 

C. supplied 

D. stored

5. A. produced 

B. derived 

C. extracted 

D. released

6. A. resting 


B. leaving 

C. restricting     
D. remaining

7. A. as 


B. therefore 

C. such as 

D. for
III. Choose the best answer (A, B, C, D) that best completes each sentence:

8. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

9. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted

10. The man about _____ I told you works in the hospital. 

A. who

 B. whose

C. whom 
 D. that
11. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that
12. She believes there is life______ other planets.
A. of

 B. in 

 C. on

D. from
13. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that
14. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction

15. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from
16. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

17. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

18. The picture at _____ she was looking was beautiful. 

A. who

 B. which

C. whom 
 D. that

19. I saw a lot of people and horses______ went to market.   

A. who

 B. which

C. whom 
 D. that

20.  I have not decided the day ______ I’ll go to London.    

      A. where

 B. why

C. when
 D. that

IV. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

21. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity

C. The Variety of Species 

D. Natural Mechanisms

22. Which of the following is not a species used to replace a rich ecosystem?

A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

23. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

24. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

25. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral
V. Pick out the word whose underlined part is pronounced differently from that of the others.

26. A. character               B. choose                C. chilly                        D. cheap 

27. A. advise                     B. establish            C. organise                  D. decide

28. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


VI. Choose the underlined part that needs correcting.
29. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

30. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D
31. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

32. He became the first person to eating and drink in zero in space .

           A                   B               C              D
VII. Rewrite the following sentences so that it has the same meaning as the given one.

33. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
34. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ …………………………………………………………
35. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….

36. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
37. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
38. The children made every effort to please their parents.
Rewrite the following sentences, using “try”

→ ………………………………………………………….
39. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles (V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….

40. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..

NUMBER : 115
THE END
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Trung Gia High School                      THE SECOND TERM TEST- NO 1

School year 2015- 2016                      Subject : English 

Grade 11                                              Time : 45 minutes                        NUMBER : 110

____________________ ********** ___________________**********_________________

I. Pick out the word whose underlined part is pronounced differently from that of the others.
1. A. sponsored
     B. enjoyed 

  C. answered
               D. competed


2. A. advise                     B. establish            C. organise                  D. decide

3. A. character               B. choose                C. chilly                        D. cheap 

II. Choose the best answer (A, B, C, D) that best completes each sentence.

4. A. distance
B. daily

C. equip

D. surface



5. A. appropriate
            B. emotional
         C. pronounce
      D. situation
III. Choose the best answer (A, B, C, D) that best completes each sentence:

6. The panda's ______ habitat is the bamboo forest.

A. nature 

B. natural 
C. naturalized 

D. naturally

7. A number of rare animals are now in danger _____ extinction.

A. of

 B. in 

 C. on

D. from

8. The waste from the chemical factory is extremely ______.

A. harm 

B. harmful 

C. unharmed 
D. harmless

9. People are destroying the air by adding ______ to it.

A. pollutants
B. polluters 

C. pollution  
D. polluted
10. Do you see the woman _______ money we found?

A. who

 B. whose

C. which 
 D. that
11. You have to be aware of the damage humans are doing to quicken the ______ of wildlife.

A. extinct 

B. extinctive 

C. extinctions 

D. extinction
12. The government should do more to protect rare animal ______ being extinct.

A. of

 B. in 

 C. on

D. from
13. She believes there is life______ other planets.

A. of

 B. in 

 C. on

D. from

14. The man about _____ I told you works in the hospital. 
A. who

 B. whose

C. whom 
 D. that
15. The picture at _____ she was looking was beautiful. 
A. who

 B. which

C. whom 
 D. that
16. I saw a lot of people and horses______ went to market.   
A. who

 B. which

C. whom 
 D. that
17.  I have not decided the day ______ I’ll go to London.    
      A. where

 B. why

C. when
 D. that
18. She doesn’t want to speak of the cause ______ she divorced her husband . 

      A. where

 B. why

C. when
 D. that
IV. Read the passage below and choose the best answer (A, B, C or D) to each question.

Scientists believe they now have scientific evidence to prove that ecosystems work better when there is greater variety of species within them. This biodiversity is being lost destroying natural mechanisms that could repair the damage caused by man.

Findings show that losing plants and animals is not only reducing our quality of life but actually endangering our very existence. We cut down rich rainforests and replace them with one species plantations, such as pine and eucalyptus. We plough up meadows rich in different grasses and herbs and replace them with one grass, for instance rye or wheat. 

When a natural ecosystem is simplified the basic processes in the ecosystem are altered and even damaged. Without their biodiversity they are not able to serve as the natural clearner of our planet. No longer are they able to absorb the carbon dioxide that is being produced in excess. The result is global warming, caused by the increase in the 'greenhouse effect', and ultimately, or even 'sooner, there will be' a change in the world's climate.

19. Which of the following is the best title for the passage?

A. How Ecosystems Work Better
 
B. The Loss of Biodiversity
C. The Variety of Species 

D. Natural Mechanisms

20. Which of the following is not a species used to replace a rich ecosystem?

A. Herbs 


B. Pine 


C. Eucalyptus 

D. Rye

21. What is the purpose of paragraph 2? 

A. To show natural mechanisms at work.

B. To give examples of the loss of biodiversity.

C. To give example of variety of species.

D. To show how ecosystems can work better.

22. What, according to the passage, might be the final result of the simplification of natural ecosystems? 

A. The basic processes are altered   
B. There is loss of biodiversity

C. There is global warming   
             D. There is a change in the climate.

23. What is the author's attitude to the loss of biodiversity?

A. Indifferent 

B. Negative 

C. Positive 

D. Neutral

V. Choose the word or phrase that best fits the blank space in the following passage. 

By 1984, nonrenewable (24) ______ fuels, such as oil, coal and natural gas, provided over 82 percent of the commercial and industrial energy (25) ______ in the world. Small amounts of energy were (26) ______ from nuclear fission, and the (27) ______ 16 percent came from burning direct perpetual and renewable fuels, (28) ______ biomass. 

24. A. clean 


B. unleaded 

C. fossil 

D. solid

25. A. used  


B. produced 

C. supplied 

D. stored

26. A. produced 

B. derived 

C. extracted 

D. released

27. A. resting 


B. leaving 

C. restricting     
D. remaining

28. A. as 


B. therefore 

C. such as 

D. for

VI. Choose the underlined part that needs correcting.

29. Her brother seems to be totally incapable in looking after himself.

                     A                               B           C                        D

30. He became the first person to eating and drink in zero in space .

           A                   B               C              D

31. Hanoi Post Office, that is in the city centre, provides a lot of services. 

                                       A        B                              C                       D

32. Whales are under danger because of the increase in the number of hunters.

                         A                           B                  C                                     D

VII. Rewrite the following sentences so that it has the same meaning as the given one.
33. The song was interesting. We listened to it last night.
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ …………………………………………………………..
34. That’s the girl. Fred and Tom were talking about her. 
Combine the following sentences, using PREPOSITION + WHOM or WHICH.
→ ………………………………………………………….
35. I like the man. You met him this morning.
Combine each pair of sentences, using a suitable relative pronoun or adverb.

→ ………………………………………………………….
36. John was the fifteenth applicant who was interviewed for a position in that company.  
Rewrite the following sentences, replacing the relative clauses by participles(V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
37. The children who attend that school receive a good education.
Rewrite the following sentences, replacing the relative clauses by participles(V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
38. She was the first woman who took her seat in Parliament. 
Rewrite the following sentences, replacing the relative clauses by participles(V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
39. The children made every effort to please their parents.
Rewrite the following sentences, using “try”
→The children tried their best to please their parents.

40. We live in the house that was built in 1990. 
Rewrite the following sentences, replacing the relative clauses by participles(V- ing/ V- pII) or to infinitives.
→ ………………………………………………………….
NUMBER : 110
THE END
